Total Marks:12 Class:9th Time:15min

Subject:Chemistry(Objective)

Choose the best answer.Cutting overwriting and use of inkremover is not allowed

1

The percentage of oxygen in human body is: -‘LJU;"JJ"L.}L/: () dund, uﬁ’{lﬂ 1
a. 66 b.65 a. 66 b.65

c. 63 d.o4 c. 63 d.64

No. of Atoms in Gram Carbon is: 5. . 2
2.6.02x10” b. 12.04x10" 2.6.02x10” b.ﬂi(‘iﬂi%uxﬂ/
c. 1.672x10" d. 18.06x 10" c. 1.672x10™ d. 18.06x 10”
Isotopes of Chlorine are: ?L},/‘;JJ:LJ}’LU”{ 3
a.2 b.3 a.2 ‘b.3 )

c.4 d.1 c.4 d.1

Actinide belong to which block of periodic table: (’ujg/yaJM/LJ’jJL Sy
a.s b.p a.s b.p )
c.d d. f c.d d. f

Long form of periodic table is constructed on o s O M T £S5
the basis of: . ‘L)?Jw JM - Pbu@
a. Mass Number b. Atomic Number a%J b. A b

c. Atomic Mass d. Principle of Mendleg .G+ ULl d. J")/..{#i?f

Which one of the following is an electron ~LU{U(L‘)J/}’~O’JL£J}:?LL/¢’-—J:U' 6
deficient molecule: ‘ N

a. NH, b. BF, a. NH, b. BF,

c. N, d. O, c. N, d. O,

The covalent bond present in CjH, are: ?LV?EE»‘?E#&’/U/U:J%?LCZm 7
a.l b3 a.l T b3

c.4 dss c.4 d.5

Gases are the lightést form of matter and their u:ui’gd(ff)njd/u!/;l_‘L;)lyu:}'u@Juhff 8
densities are expiessed in terms of: _‘Lt'l?y/ﬁw
a.mgem b.gem a.mgem b.gem”

c.gdm” d.kgdm” c. gdm” d.kgdm”

The component of solution which is present in ~LLVM)’5U:/U§’D)E)£'ZU gu';}j./ 9
large quantity is called:

a. Solute b. Solvent a. Loy b. el

. Solubility d. True Solution ~ c. Gl d. Tt

The formula of Rust is: e Iy s 10
a. Fe,0,.nH,0 b.Fe,0, a. Fe,0,.nH,0 b.FeO,

c. Fe(OH),nH,0  d.Fe(OH), c. Fe(OH),.nH,0 d .Fe(OH),

The oxidation number of chromium in K,Cr,0, felbm Y A f},f” Kr:.’ UK, Cr0, T
a. +2 b. +6 a. +2 b. +6

c.+14 d. +7 c.+14 d. +7

Metal forms ion carring charge: ?ugéu@/tguw’fif%: 12
a. Unipositive b. Dipositive o ’?JE&!.’ B if./&& %

c. Tripositive d. All " ’2)[’.&’; d. fac.“
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